ECE 270 Introduction to Digital System Design Rev 1/19

Practice Quiz 4
Closed Book and Notes — T1 3011 XS Calculator Allowed
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Assuming that F(A,B,C,D) = 1 corresponds to the LED being illuminated (note active low current
sinking configuration), the function realized by this circuit is:

(A) F=AeBeCeD (B) F=(AeBeCeD)" (C) F=A+B+C+D (D) F=(A+B+C+D)’ (E) none of these

Based on a specified lo. of 4 mA @ VoL of 0.33 V, the ON resistance of a 74HC03 open-drain output
relative to ground is approximately:

(A) 83Q (B) 1000 Q2 (C) 1168 Q2 (D) 30 KQ (E) none of these

Based on a specified loimax of 4 mA @ VoL of 0.33 V, the minimum value of pull-up resistor used
(Rmin) should be approximately:

(A) 83Q (B) 1000 Q2 (C) 1168 Q2 (D) 30 KQ (E) none of these

Based on a desired Viumin of 4.37 V @ |y of 1 YA at the input to the 74HC04 inverter, the maximum
value of pull-up resistor used (Rmax) should be approximately:

(A) 83Q (B) 1000 Q2 (C) 1168 Q2 (D) 30 KQ (E) none of these

When A=L, B=L, C=L, and D=H, the current sunk by the active open-drain gate in the circuit as shown
(with a 1000 Q pull-up resistor) will be approximately:

(A) OmA (B) 1.6 mA (C) 4.0mA (D) 4.6 mA (E) none of these




